BEILFORERD - #BRE (1)
= N # 8 % - # -y ® E 3 x
F a SM7E| S E BiR SM7 E| S FE BiE SM7E|SM6E| #EHE
TAX | 7TRAX | #% x TAX | 7TRAEX | #% x 7AX | 7AX | &40
HOE OL BB 4,788 4,361 427 9.8 1,736 1,928 -192 -10.0 36.3 44.2 -7.9
& A & 872 660 212 32.1 154 355 -201 -56.6 17.7 53.8 -36.1
% & B 272 213 59 21.7 61 88 -27 -30.7 22.4 41.3 -18.9
2 A # 76 76 0 0.0 7 33 -26 -788 9.2 43.4 -34.2
=5 % E 3 3 0 0.0 2 1 1 100.0 66.7 33.3 33.4
AT MIBUY
® E B Y 31 22 9 40.9 2 5 -3 -60.0 6.5 227 -16.2
m OfE W L 3 3 0 0.0 0.0 0.0 0.0
AR 1 1 — 17 17 —| 11,7000 —
¥ KR ®m L 1 4 -3 -75.0 1 -1/ -100.0 0.0 25.0 -25.0
m B & L 2 2 0 0.0 27 -27| -100.0 0.0| 1,350.0| -1,350.0
# oM BT L 11 11 — 0.0 —
EBEmREL 61 39 22 56.4 2 10 -8 -80.0 3.3 25.6 -22.3
HOE W L 96 91 5 5.5 7 30 -23 -76.7 7.3 33.0 -25.7
I % & L 8 4 4 100.0 1 2 -1 -50.0 12.5 50.0 -375
B K E R L 4 2 2 100.0 0.0 0.0 0.0
2 E ® L 50 54 -4 -7.4 24 32 -8 -25.0 48.0 59.3 -11.3
BAGEZ DI 253 147 106 721 31 126 -95 -75.4 12.3 85.7 -73.4
£ Y B B 1,159 1,067 92 8.6 7 107 -36 -33.6 6.1 10.0 -3.9
B & B & 103 59 44 74.6 19 34 -15 -44.1 18.4 57.6 -39.2
el AN O 73 51 22 43.1 3 7 -4 -57.1 4.1 13.7 -9.6
B & B &K 983 957 26 2.7 49 66 -17 -25.8 5.0 6.9 -1.9
¥ £ A B 2,757 2,634 123 4.7 1,511 1,466 45 3.1 54.8 55.7 -0.9
B 7] & 3 5 -2 -40.0 3 7 -4 -57.1 100.0 140.0 -40.0
h H & 49 28 21 75.0 38 23 15 65.2 77.6 82.1 -4.5
ATMBLLWL
EE R 5 W
B E b W 4 4 0 0.0 2 3 -1 -333 50.0 75.0 -25.0
O - = <Y 1 2 -1 -50.0 4 3 1 33.3 400.0 150.0 250.0
El Y 11 8 3 375 3 2 1 50.0 27.3 25.0 2.3
[ 5l = 29 43 -14 -32.6 12 13 -1 -1.1 41.4 30.2 11.2
REZEHR DLW 7 2 5 250.0 1 -1|  -100.0 0.0 50.0 -50.0
B E A SN 238 267 -29 -10.9 106 75 31 413 445 28.1 16.4
B oMt 5 119 135 -16 -11.9 9 31 -22 -71.0 76 23.0 -15.4
&R BZA S 13 24 -1 -45.8 4 3 1 33.3 30.8 12.5 18.3
BR#HRLS W 43 3 40| 1,333.3 15 31 -16 -51.6 349 10333 -9984
=N 32 65 -33 -50.8 22 50 -28 -56.0 68.8 76.9 -8.1
IEHHL W 58 79 -21 -26.6 7 13 -6 -46.2 12.1 16.5 -4.4
B El E 1,004 897 107 1.9 795 671 124 18.5 79.2 748 4.4
B & A5 W 104 77 27 35.1 59 27 32 118.5 56.7 35.1 216
BB 5 L 5 3 2 66.7 5 -5/ -100.0 0.0 166.7| -166.7
Z 0] it 1,037 992 45 45 432 508 -76 -15.0 41.7 51.2 -95
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w % A B b3 X B 3
F a SM7E SHeHE iR SM7E SHeHE iR SH7E|SMeHE iR
7AX | 7AX | AB = 7AX | 7RAX | AB E 7AX | 7AX | A8 x
T 807 859 -52 -6.1 711 717 -6 -0.8 96 142 -46 -32.4
A P 54 59 -5 -85 47 53 -6 -113 7 6 1 16.7
% E B 21 12 9 75.0 18 11 7 63.6 3 1 2 200.0
b A HH 3 3 0 0.0 3 3 0 0.0
=] % = 1 -1|  -100.0 1 -1|  -100.0
AT MIBUY
® E B Y 1 1 0 0.0 1 1 0 0.0
w OfE F® L
AR 1 1 — 1 1 —
¥ KR ®m L 2 -2/ -100.0 2 -2|  -100.0
m B & L
# oM BT L
EBEmREL 2 5 -3 -60.0 2 4 -2 -50.0 1 -1|  -100.0
HOE W L 1 6 -5 -83.3 1 5 -4 -80.0 1 -1|  -100.0
I % & L 1 -1|  -100.0 1 -1|  -100.0
B R ERL
2 E ® L 11 13 -2 -15.4 11 13 -2 -15.4
BAGEZTOMH 14 15 -1 -6.7 10 14 -4 -28.6 4 1 3 300.0
W& 31 47 -16 -34.0 17 24 -7 -29.2 14 23 -9 -39.1
B B ®E & 7 12 -5 -41.7 7 12 -5 -41.7
el AN O 2 5 -3 -60.0 2 5 -3 -60.0
B & B &K 22 30 -8 -26.7 10 12 -2 -16.7 12 18 -6 -333
A B 722 753 -31 -4.1 647 640 7 1.1 75 113 -38 -33.6
B 7] & 3 1 2 200.0 2 1 1 100.0 1 1 —
#h H & 1 1 0 0.0 1 1 0 0.0
ATMHBL WL
= a5 W
il a5 W
[0 = < Y 1 2 -1 -50.0 1 2 -1 -50.0
El Y 3 2 1 50.0 3 3 — 2 -2|  -100.0
[ 5l = 9 8 1 12.5 9 6 3 50.0 2 -2/  -100.0
REZEHR DLW 1 -1|  -100.0 1 -1|  -100.0
B E R BV 9 9 0 0.0 8 6 2 33.3 1 3 -2 -66.7
B oMt 5 4 4 — 3 3 — 1 1 —
&R BZA S 3 3 — 3 3 —
BR#HRLS W 4 4 — 1 1 — 3 3 —
=N 3 5 -2 -40.0 3 4 -1 -25.0 1 -1|  -100.0
IEHHL W 2 3 -1 -333 2 3 -1 -333
B El E 490 526 -36 -6.8 428 439 -11 -2.5 62 87 -25 -28.7
B & A5 W 27 22 5 227 23 14 9 64.3 4 8 -4 -50.0
BB 5 L 3 -3|  -100.0 3 -3|  -100.0
Z ) it 163 170 -7 -4.1 160 160 0 0.0 3 10 -7 -70.0




